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General Instroctions

* Working time — 55 minutes
* Start each question on a new page

Student Number:

Total marks -45 -

« Atternpt Questions 1-3
* Maiks for each question are

in your answer booklet.

» If any additional booklet is used, please -

label it clearly and attach it to the
appropriate booklet.
* Write using black or blue pen onfy.
* Board-approved calculators may
be vsed. )
*» All necessary working must be shown.
* Marks may be deducted for careless or
badly arranged work.

indicated on the back of this
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QUESTION 1 START A NEW PAGE MARKS
a) Simplify the following:
@ 8m-6h+2m—4h 1
166°K°
.. I
@ e
b) Express in simplest terms:
3m m+l
) —— T 2
® P
ab ab’
W 2
c) Factorise fully:
(@) 2k +2j + mk + mj 1
() k- 5h+6 1
(i) 27- 1
d) Express as fractions in simplest terms:
() 0568 2
(i) 621 % 2
e) Find the value of:
1 .
i) (to 2 decimal places) 1
¢ V582 -17
(i) ¥8.9°+3.14*  (to 4 significant figures) 1




OQUESTION 2 START A NEW PAGE

a) Expand and simplify:
@ ~5—4(m—2)+10

@) (g—-5m)¥g+2m)
(i) (-34°°)

b) Solve the pair of simultaneous equations:

x—2y=8
2x+y=1

¢) Findthe value ofx :
@ 3(x+7)+2=-2(x~9)

8.7:—2.0:24

) 2x-

d) Solve the following equations:
@5t —13t+6=0

x> +2x=2

QUESTION 3 START A NEW PAGE

a) Simplify:
x 2

+
¥ -81 x-9

b) Solve simultaneously for p,g:

3p+g=9
pg==6

¢) Simplify the following :

2% +x-15 X +6x+9
P +3x-28 x*—4x

d) () Using the diagram below show that =

y=7

(i) Hence show that y* —18y+45=0

(i) Find the value of y .
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find the vahe of:

()
——— = 0-25
58* i1 ({n 2 dee f"“%)
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bx — 9114—20:72. f‘
TZx s B
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